Assignment 2: SEM on simulated data

This version: Tuesday September 11 2012.

The syntax semsimul.sps generates an elementary causal model with three measured indicators for each latent variable X M Z. The syntax will work on any datafile, but I offer an empty one with 10000 cases for free. The idea of the simulation is to generate a true model first, then obfuscate it by measurement, and then find out how much of the true model we can recover if we use sem modelling.

Make you own version of the simulated data by sampling with .50. This implies that your results will be different from your neighbors.

The basics

Write out your own version of semsimul.dta, read in into stata and estimate the sem model in the following varieties:

- 
All three elementary measurement models

· Only direct effect (X ( Y).

· A factor analysis with correlated X Y M

· A full causal model (X ( M Y) (M ( Y)

· The full causal model with the two best indicators per latent variable

· The full causal model with the two worst indicators per latent variable.

Report results on fully standardized models. Report coefficients, SE and fit statistics for the complete model.

Constrained estimation

Re-estimate the full causal model while constraining the measurement models to be identical.

Better measurement

The measurement in the simulated data is quite bad, as the reliability analysis shows. Improve the measurement by taking adding less error variance to it. Report the results for the ful causal model.

Missing values
Generate random missing values in each of the measured indicators. This is the way you do this: for each of the indicators you generate a lottery variable:

Compute lot1 = uniform(1).

Recode lot1 (0 thru 0.50=0)(0.50 thru 1.00=1).

(By manipulating the 0.50 you can chose the number of missing values you want to have.)

